




P bought 30 kg of rice at the rate of 8.50rs per kg and 20 kg of rice at the rate of 9rs per 

kg. He mixed the two. At what price (Approximate) per kg should he sell the mixture in 

order to get 20% loss?

1.9.50
2.8.50
3.7.00
4.6.50
5.12.50

P ने 8.50 रुपये प्रति किलो िी दर से 30 किलो चावलऔर 9 रुपये प्रति किलो िी दर से 20 किलो चावलखरीदा। उसने दोनों िो
तिला कदया। 20% हातन प्राप्त िरने िे तलए उसे तिश्रणिो किसिूल्य (लगभग) प्रति किलो पर बेचना चाकहए?



There is a 120 L mixture of vinegar and water. The ratio of vinegar to water is 7 ∶ 5. A 

shopkeeper mixes a certain amount of water in order to make the ratio of vinegar to 

water 5 ∶ 6. The new quantity of water is what percentage of the original quantity of 

water in the mixture?

1.180%
2.156%
3.145%
4.165%
5.168%

तसरिाऔर पानी िा 120 लीटर तिश्रण है। तसरिाऔर पानी िा अनुपाि 7 : 5 है। एि दिुानदार तसरिाऔर पानी िा अनुपाि 5 
: 6 बनाने िे तलए एि तनश्चिि िात्रा िें पानी तिलािा है। पानी िी नई िात्रा तिश्रणिें पानी िी िूल िात्रा िा कििना प्रतिशि है?



A and B started business together by investing 45,000rs in ratio of 2 : 3. If after 3 months 

C invests 30,000rs then what would be the ratio of their profit sharing at end of one year 

(A : B : C)?

1.6 : 4 : 5
2.5 : 4 : 6
3.4 : 6 : 4
4.4 : 5 : 6
5.4 : 6 : 5

A और B ने 2: 3 िे अनुपाि िें 45,000 रुपये िा तनवेश िरिे एि साथ व्यवसाय शुरू किया। यकद 3 िहीने िे 
बाद C 30,000 रुपये िा तनवेश िरिा है, िो एि वर्ष िे अंि िें उनिे लाभ साझािरण िा अनुपाि क्या होगा (A : B 
: C)?



In an examination, B scored 45% marks and failed by 18 marks. In the same examination, 

R scored 54% marks and get 27 marks more than the passing marks. What is the score of 

M in the same examination, who secured 75%?

1.450
2.375
3.670
4.342
5.NOT

एि परीक्षा िें, B ने 45% अंि प्राप्त किएऔर 18 अंिों से अनुत्तीणष हो गया. उसी परीक्षा िें, R ने 54% अंि प्राप्त किएऔर उत्तीणष
अंिों से 27 अंि अतिि प्राप्त किए। उसी परीक्षा िें M िा स्िोर क्या है, श्चिसने 75% अंि प्राप्त किए हैं?



R’s age is 4/3 times of K’s age, ten years from now he will be 6/5 times of K’s age. R’s age 

is how much percentage more than K’s age five years later?

1.20%
2.33.33%
3.30%
4.25%
5.NOT

R िी आयु K िी आयु िा 4/3 गुना है, अब से दस वर्ष बाद वह K िी आयु िा 6/5 गुना होगा। R िी आयु, पांच 
वर्ष बाद K िी आयु से कििने प्रतिशि अतिि है?



S and K can complete a work in 10 days while K and A can complete the same work in 12 

days. S works for the first 4 days, then K works for 10 days and the remaining work is 

completed by A in 10 days. In how many days A could complete the work done alone?

1.20 days
2.30 days
3.40 days
4.50 days
5.15 days

S और K एि िायष िो 10 कदनों िें पूरा िर सििे हैं िबकि K और A उसी िायष िो 12 कदनों िें पूरा िर सििे हैं। S 
पहले 4 कदनों िे तलए िाि िरिा है, किर K 10 कदनों िे तलए िाि िरिा है और शेर् िाि A द्वारा 10 कदनों िें पूरा 
किया िािा है। A अिेले किए गए िायष िो कििने कदनों िें पूरा िर सििा है?



Alloy A containing Copper and Zinc in the ratio 4 ∶ 5 is mixed with another alloy B 

containing Zinc and Aluminium in the ratio 7 ∶ 9. The quantity of zinc in the final mixture 

is 70 kg. Find the quantity of Aluminium in the final mixture. (Assuming quantity of zinc 

in both alloy (A and B) is same.)

1.50 kg
2.60 kg
3.30 kg
4.90 kg
5.45 kg

4 ∶ 5 िे अनुपाि वाले िांबा और िस्िा युक्त तिश्रिाि ुA िो 7 ∶ 9 अनुपाि वाले िस्िा और 
एल्यूिीतनयि युक्त तिश्रिाि ुB िे साथ तिलाया िािा है। अंतिि तिश्रण िें िस्िा िी िात्रा 70 किलोग्राि 
है। अंतिि तिश्रण िें एल्यूिीतनयि िी िात्रा ज्ञाि िीश्चिए। (यह िानिे हुए कि तिश्रिािु (A और B) दोनों 
िें श्चिंि िी िात्रा सिान है।)



A man goes downstream with a boat to some destination and returns upstream to his 

original place in 20 hours. If the speed of the boat in still water and the stream is 40 km/hr

and 20 km/ hr respectively, the distance of the destination from the starting place?

1.400 km
2.250 km
3.450 km
4.300 km
5.NOT

एि व्यक्तक्त नाव िे साथ किसी गंिव्य पर िािा है और 20 घंटे िें अपने िूल स्थान पर लौट आिा है। यकद श्चस्थर 
पानी और िारा िें नाव िी गति क्रिशः 40 कििी/घंटा और 20 कििी/घंटा है, िो प्रारंतभि स्थान से गंिव्य िी 
दरूी क्या है?



A 320 m long train crosses a 280 m small train running in opposite direction in 5 sec. 

Ratio between speed of longer train and smaller train is 7 ∶ 8. If faster train crosses a 

platform in 8 sec, then find time taken(in approx) by slower train to cross a bridge, which 

is 90 meters more long than platform?

1.12 sec.
2.15 sec.
3.20 sec.
4.24 sec.
5.NOT

एि 320 िीटर लंबी टे्रन क्तवपरीि कदशा िें चल रही 280 िीटर छोटी टे्रन िो 5 सेिंड िें पार िरिी है। लंबी टे्रन 
और छोटी टे्रन िी गति िे बीच िा अनुपाि 7 : 8 है। यकद िेि गति से चलने वाली टे्रन एि प्लेटिािष िो 8 
सेिंड िें पार िरिी है, िो िीिी टे्रन द्वारा एि पुल िो पार िरने िें तलया गया सिय (लगभग) ज्ञाि िीश्चिए, िो 
प्लेटिािष से 90 िीटर अतिि लंबा है?



The marked price of pair of shoes by B is 25% more than that of X brand. If B shoes are 

sold at 25% discount and X at 30% discount then the difference between selling prices 

was observed to be 285rs. Find the marked price of B shoes?

1.Rs 1050
2.Rs 1250
3.Rs 1500
4.Rs 1650
5.Rs 1750

B िूिे िी िोडी िा अंकिि िूल्य X ब्ांड िी िुलना िें 25% अतिि है। यकद B िूिे 25% छूट पर और X 30% छूट 
पर बेचे िािे हैं, िो क्तवक्रय िूल्यों िे बीच िा अंिर 285 रुपये पाया गया। B िूिों िा अंकिि िूल्य ज्ञाि िीश्चिये?



The average cost of a pen, a pencil and an Ink pen is 30rs. The average cost of an Ink pen 

and a pencil is 30rs. Find the difference between the cost of a Ink pen and a pen if cost of a 

pencil is 1/3rd of a cost of an Ink pen ?

1.Rs. 10
2.Rs. 15
3.Rs. 25
4.Rs. 30
5.Rs. 20

एि पेन, एि पेंतसल और एि इंि पेन िी औसि लागि 30 रुपये है। एि इंि पेन और एि पेंतसल िी औसि 
लागि 30 रुपये है। यकद एि पेंतसल िी िीिि स्याही पेन िी िीिि िा 1/3 है, िो स्याही पेन और पेन िी 
िीिि िे बीच िा अंिर ज्ञाि िीश्चिये?



10 years ago, respective ratio of the age of mother and daughter was 4 : 1. 10 years later, 

the respective ratio of the age of mother and daughter will become 2 : 1. At present, what 

is the sum of their age?

1.55 years
2.65 years 
3.70 years
4.75 years
5.77 years

10 वर्ष पहले, िााँ और बेटी िी आयु िा संबंतिि अनुपाि 4: 1 था। 10 साल बाद, िााँ और बेटी िी आयु िा 
संबंतिि अनुपाि 2: 1 हो िाएगा। विषिान िें, उनिी आयु िा योग क्या है?



A man wants to invest 8425rs in bank account of his two daughters whose age are 24 

years and 28 years in such a way that they will get equal amount on age of 40 years at the 

rate of 33.3% compounded annually. Find the share of elder daughter?

1.Rs. 6400
2.Rs. 6464
3.Rs. 5400
4.Rs. 7000
5.Rs. 6482

एि व्यक्तक्त अपनी दो बेकटयों िे बैंि खािे िें 8425 रुपये तनवेश िरना चाहिा है, श्चिनिी आयु 24 वर्ष और 28 वर्ष 
है, इस िरह से कि उन्हें 40 वर्ष िी आयु पर 33.3% वाक्तर्षि चक्रवकृ्ति दर से सिान रातश तिलेगी। बडी बेटी िा 
कहस्सा ज्ञाि िीश्चिये?



The efficiency of A, U, and C is 2 : 3 : 5. A alone can complete a work in 150 days. They 

all work together for 15 days and then C left the work, in how many days A and U 

together can complete the remaining work?

1.38
2.35
3.40
4.36
5.NOT

A, U और C िी दक्षिा 2 : 3 : 5 है। A अिेले एि िायष िो 150 कदनों िें पूरा िर सििा है। वे सभी 15 कदनों िे 
तलए एि साथ िाि िरिे हैं और किर C िाि छोड देिा है, A और U तिलिर शेर् िायष िो कििने कदनों िें पूरा िर 
सििे हैं?



Train A running with the speed of 20 m/s crosses a platform in 30 seconds. Another train 

B whose length is 150 metre more than length of train A is running with the speed of 10 

m/s crosses a pole in 40 seconds. Find the length of platform?

1.330 metre
2.380 metres
3.290 metres
4.350 metres
5.NOT

20 िीटर/सेिंड िी गति से चल रही टे्रन A एि प्लेटिािष िो 30 सेिंड िें पार िरिी है। एि अन्य टे्रन B श्चिसिी 
लंबाई टे्रन A िी लंबाई से 150 िीटर अतिि है, 10 िीटर/सेिंड िी गति से चल रही है, एि खंभे िो 40 सेिंड िें 
पार िरिी है। प्लेटिािष िी लंबाई ज्ञाि िीश्चिये?



A shopkeeper sells an article for Rs. 5,400 at a loss of 10%. But he gains 15% by selling 

another article. If, on the whole, he neither loses nor gains, find the cost price of the 

second article?

1.Rs. 3,600
2.Rs. 4,000
3.Rs. 4,500
4.Rs. 5,400
5.Rs. 6,000

एक दकुानदार एक वस्तु को 10% की हानन पर 5,400 रुपये में बेचता है. लेककन वह दसूरी वस्तु को 
बेचकर 15% लाभ प्राप्त करता है। यकद, कुल नमलाकर, वह न तो हारता है और न ही लाभ उठाता है, तो 
दसूरे लेख का क्रय मूल्य ज्ञात कीजिए?


